PM SHRI KENDRIYA VIDYALAYA
PERODIC TEST -2
SOCIAL SCIENCE

CLASS IX

Time Allowed : 1:30 hours. Maximum marks-40

Section A: Multiple Choice Questions (1 mark each)

1.Which of the following is not a major river in India?

a) Yamuna b) Indusc) Amazon d) Ganges
1. TR 3 & hleT BT Rl T TG ST 61 82

&) I @) Y 1) AT &) 37em

2 The Deccan PIateau is primarily composed of:

a) Sedimentary rocks  b) Igneous rocks c) Metamorphic rocks d) Alluvial soil
2. 35FheT YOR HEA: foh Yo I TeeTal & §aT &2
F) TS T W) AT TeehH 1) IR T o) AT AT

3.Who was the leader of the Bolshevik Party during the Russian Revolution?

a) Vladimir Lenin  b) Joseph Stalin c) Leon Trotsky d) Nicholas Il

3.FHT ST & ST STeRIfaeh UTET T dT ShisT 2T?

&) cllfeHR AfelsT @) A® Terferd 1) foreT eleehr ) e 11

4.The primary sector of the Indian economy includes:

a) Manufacturing b)Agriculture c)Services d)Construction
4 AR 3T cqaET &7 Wraffe &7 fohd e e §?

CORCICE: ) ) 1) Yard o) fAstoT

5.The term 'Socialism' refers to:

a) Private ownership of property b) Government control over the economy

c)Free market economy d) Individualism

5 HATSTAIG 2TG T FAT dATlcdY &7

&) Ut 1 s Tarf@ca ) HYTGTAT IR TSR fAg=7o7

1) FeFl ST S egaedr o) SafFdarg

6.The Indian Constitution was adopted on:

a) January 26, 1950 B) August 15, 1947 C) December 31, 1950 d) January 1, 1951
6. 5T TGS ST el 9T I7TT AT?

%) 26 STeTAXT, 1950 ) 15 313TEd, 1947 7) 31 fgHsT, 1950 ) 1 SeAad, 1951

7 Which sector contributes the most to India’s GDP as of recent data?

A) Primary B) Secondary C) Tertiary D)Quaternary

7.8Tel hT 3€T o 3THR, N T GDP H HH 31Tk ANareret Hiet & &1F 182
&) wrafAs @) gRdE ) i ) Tqdeh
8.The Soviet Union was formally dissolved in:

A)1985 B)1989 C)1991 D)1995
8. gifaaa gg = 3unRes 0 & e gATCT e I ar?
%) 1985 @) 1989 1) 1991 ©) 1995

Section B: Short Questions (3 marks each)
9.Describe the main features of the Himalayas and their impact on the climate of India.

TeHTerT T 7T TARAWAT3T 1 0TeT Y 3R Tg HRA T STeTary T el TehR Fe7Td STelct & |

10.What were the causes and major outcomes of the Russian Revolution of 1917?

1917 T T shifel oh HROT 3R T IRoT 777 A2

11.Explain the role and importance of the tertiary sector in the Indian economy.

AR 3reieaen / Jcliae &= Y {fAeT 3R Aged 1 Fave H |

12.Discuss the key features of the Indian Constitution and the process of its drafting.

AR E AT hT 5 FAAWeTd 3R g8k SIReaT sh wfshar oX =reil |

Section C: Passage/Case-Based MCQs (2 mark each)

"Human resources are vital to the growth and development of a nation. This concept emphasizes the
importance of investing in people to improve their skills and education, which in turn enhances their
productivity and contribution to the economy. For instance, countries that prioritize education and
vocational training see higher rates of employment and innovation. By focusing on human resource



development, nations can achieve sustainable economic growth and address challenges like poverty and
unemployment."”

"HToTe HHTE Teh Trog Y Jeftr 3R farenrer & T 3reda Ageaqu §| 76 raerron Siien # sterer 3R Ruew 7 der e &
Heed T SR ST, Y G ¥ 3T ScaredhaT 3 JreeraE 7 AeTere Y TeTal ¥ 3eTeNoT 3 farw, 3 dar o e 3k
caTaETfae UfReToT St grafiedar & €, 98T 3T VTR 3R FAdTaR it g3 WY ST § | AleTa FaTe fashma oX e higd
eh, ISE Hld 37T Taehrer e ST Fehel § 3R T 3R SRISTITRY SHET Aot b FaATereT oY Fehel €1

13.What does the passage suggest about the role of human resources in a nation’s development?

TS o 3R, HIeTd HATEIAT hT fHhT Teh Iog o fashra & g2

14.According to the passage, what are the benefits of investing in education and vocational training?
TS & 3TER, fAET 3R carararies giiafor & faer e & oy T §?

"Socialism emphasizes the need for government control over major industries and services to ensure
equal distribution of resources.'
"mmmaﬂ?ﬂmﬁwwﬁﬁwaﬁmwmﬁwmm%mﬁ?mﬁwwﬁw
aﬁ%aﬁmmﬁl

15 Socialism primarily advocates for:

a) Private ownership of resources b) Government control of industries
c) Free market economy d) Minimal government intervention
THATSTATE, HET &9 F fohrehT dehrercl il &7

&) TATH &1 ¥l TR @) 3N 1 AN fAz=or

1) FFl SR i egaedr ) 7T H TR GEAETT

16.The Soviet Union was a major proponent of:

a) Capitalism  b) Socialism c) Feudalism  d) Mercantilism
TIfaT T Teh T T AL AT

%) qeitaTg @) G a7) FIHTATG, o) arfoeadre

Sectlon D: Long Questions (5 marks each)
17.Analyze the impact of the physical features of India on its agriculture and transportation.

HRA T ofifTeh FAAWAT3IT A7 38 HTY R IRt R T811d 1 FARATOT HY |

18.Discuss the causes, major events, and consequences of the Russian Revolution. Include key figures
and the role of the Bolshevik Party?

ST ShifcT 3 SHROT, FHE TEATT iR TROTAT O =l Y | FHE 3773 3R dieliden arél hr sgfareht anfae i |
Section E: Map Work (1 mark each)

19.0n the provided map of India, label the following features.

1.Himalayas 2. Deccan Plateau



